Tgo Nan Schoo]

Primary 3 Science End-of-year Examination — 20064

Date: 24 October 2004

Class: P3 { } Duraiion: 1.30 pom. - 230 Q.m.

Parent's signature: Marks: /100

Secﬁon_ A (30 x 2 marks)

For each question, choose the most sultable answer and shade Iis

carect oval (1, 2, 3 or 4) on the Opfical Answer Sheet.

i. The two main groups of living things ore

[J’J'I’Eish and Birds

12) Plants and Animals
Bj/Plcrnis and Hurnans
{A‘)/Anfrnals and Humans

2. Which of the foliowing organisms is usefu o Man?

(MHlice

(\'ZI/Y eqs?

3 Dust mite
{Aﬁrecd Mould

3. Which of the following statements is twe?

U{ All flowering pI.qnts have seeds.

{QJ'E)nlv flowenng plants can bear frusils.

31 Non-flowering piants cannot reproduce. -
(A‘]/ Mon-flowering plants are non-green plants.




4. Which of the foliowing animals has been incomecity matched with
the way it reproduces?

[ Animal The way It reproduces
i Lays egas on land
Turtle
(2] Dalphin Gives birdh in water”
(3} Damselfly Lays egas in water
{4] Spiny Anteater Gives birth on land

3. Which of the folowing properties can be found in most Qlioys of
metals?

H soft and strong

| f2) hard and shiny
I'B}'hord and strong

) auruble and light

6. At which stage of its fife cycle does the insect below moult several
fimes?

M Egg o
2f Larva . S L
3f Pupa '

4 Adult

~5
r
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/. The classification chart below shows animais grouped according fo
their oufer bodly covering. '

[ ~_Group X - b Group Y -
Turtle Crane
Arowano Kingfisher
Rattle snake i Pheasont

Which of the following animals belongs to Group X7

(W Emu
) Platypus -
| Guppies

| ;1’)/ Dragonfly

8. Which of the following sfcitemen_f_s__q%t_:gut materials is Incereci?

:,’? Silk Is used to make scarves because i is light.

Wood is used to make fumiture because it is-skrong and durable. .

[3‘], Metalis used to make cmkmg ufensrls becouse i can conduct hect
easily. ' ' L

$4f Plastic is used to make miﬁ&oéfﬁ;b&éduse itis cheap and
transparent,




?. Joshug needs some mMaterials for fo make a boat figat, Which of
fhe following materials must he QVOIc?

[ Plastic

LQj/ S ponge
(31 Styrofoam
r'Wax paper

10.

A cockroach Planet Earth

Which of the following does not describe the cockroach and Planet
Eorth?

' {J/ﬁ hey take up space,
12] They respond 1o changes, .
631/ They move by themselves,
() They can grow and reproduce, S

Tl Fer




11.Which of the following is the life cycle of a string bean plant?

-

Adlf zf Aduil

tertstion /’ Plant ) /’ Plant \

seeding Sead Seedling Seed
M M
TertiTisalion
Aciutt ) Adult
ﬂ Plant Eferfﬁsulmn lethﬂmhmﬂ Flant E
Seedling Seed Seed Seadling
M F—/

12.Kenny was in the garden when he discovered a rotten toad. What
senses did he use?

I{ﬁght and smell AL

{\Zﬁsmeil and taste -
[&){mell and fouch
{M/ hearing and jouch

1%+




13. Which of the following foliows o set paitem?

MO SOoDno
TOOOO®OB e

MEiuLa[=ls TP Iwl

THEEES R

[Wgonly
(2fCandp anly
:’3{&. C and D only
(4 A. B, C and D

14.Which of the following dassifications is ua?

ni _3-slage life cycles . d-stage lile cycles
m/ T Penguin Housefly
] Moth Cicada
@/ Mosquito Cricket
Pigeon Damselfy = - .
“ | _
f‘




A diagram of a pond Is shown below. Study the diagram and answer
Q. 15, 14, 17 and 18 that foliow.

5. Which of the foilowing con be g water letfuce?

¥ Plant w

@ Plant x

!;(PFc:nr Y
(Af Piant Z

14, Which of the following chcract‘eﬁéti;simust Plant X have o five on the

surface of the pend?

M Have chlorophyil

(Q’] Is ight and has small leaves
{3‘5 Can float onwater

ﬁ-t{]' Able to make food

— ——— — ==

2¥




17. Which of the foliowing can be Plant w?

(T Elodea
{/4(]- Cafiail
(3] Hydritic
Mf Duckweead

F8. Which of the following is frue

{1+ Plant Y cannot make food because it is under water.
§4) Plant Y takes in QxXygen and gives out carbon dioxide using its gills.
{# Plont Z cannot take in waler because it fives on land,

{girﬁjlr:mt I makes food when there s sunlight.

1?.Based on the drawings below, which of the following plants will mast

likely absorb more water from the soil than the others?




20, The graph below shows the number of four different animals,

—

SIDWTY [0 Jaquiny

—

According to the graph above, which is of the

-
K
a

Squirel  Cenlipede Mudskipper Tadpoles

{47 The onimals live in four differen! habitals.

A2l Jhe number of each animat is decreasing,

[Eﬁ here are more mudskippers than squirels.

(4 Ants, squirrels and ce

21.Which of the following has correctly

niipedes live in the same habifal.

following is true?

matched the animals with their

habitais? R

. Squimals . - "-__";'Cer'tﬂpédé;"""'-,-"MUd_ﬂdpPér’s’"_"' OV Tadpotes -
Llf)‘, - Garden . Swamp ~ Pond { ._Tree
}2{ _Tice - Garden Swamp . Pond
NE Swarmp Pond Tree Garden
(41 Fond Tree Garden Swamp




22 Study the cross-seclion of o fiower below. Which part of the flower
develops into q fruit? '

el
| ‘?’*4'— \—ﬁﬂ o )

2

2 B

23.What is the path taken by food afterit enters fhe mouth?

(7} Mouth > gullet > stomach - stallintestine

{2} Mouth-> stomach -3 guliet -3 small intestine
- 8f Mouth > gullet - sl infestine-> stomach
I Mouth > smail intestine > gullet3stomach




24.The body organs below are classified according to the body

systems that they belong to. Which of the organs has been wrongly
classified?

Body
Systems
Respiratory Cheulalory Digesiive
Artaries .
Infestines
(M Veins
{3 Heart
(3 Arteries
{4y Qesophagus

" 25.Hinge joinfs can be found at several paris of our skeletal sy"sterﬁ.
Which of the following are hinge joififs?

(A) Hip joint

(B} Knee joint

(C) Elbow joint B S
{D) Shoulder joint

(M A and B only
{4 A and D only

@ Bond Conly - -
(4 C and D only

1M




26. Which of the following parts of aur body need oxygen?

{J'f Brain andt heart only
{2} Brain. lungs and heart Oy

[j}stomach, smal intestine ang large intesting anly
¥} Every part of our bady

27.1f both parenis have detached eodobes, which of the following is
most iikely fo be frue of their children?

U’]/ All thelr children have attached earlobes,
M) Most of their children have attached earlches.

1 All of their children may have detached earlobes.
M‘f None of their chiiciren have detached eariobes,

28.shirey wants 1o find out whether the objects, A, B, ¢ and D, are
magnets. She tested the objects using an iron nail, a piece of

crayon, a paper clip and a martle. She recorded her results in the
table below,

.1 Obfects T ¥on nall- "{. Crayon 4 - Paperciip -1 - -Marble .. ..
AT T ' X. v o S x
B X ' x x x

- + X f X
b X X X X

Key: + - atiracted
X —not atlrdcted
Which objects are magnets?

{l/i/A and C only-

{Hj/A and D only ' a T
{3{/3 ond C only

{A(B and D only - | i

12




27.Magnets, X and Y, are placed side by side as shown below.

SR CR—

X Y

Whan broughit together, N and Q repel, Which of the following is

false?

(1) N and Q are like poles.

[2) P and N will repel each other.
(3] P and N are unlike poles.

(4] Q and S will attract each other.

- 30.5tudy the arangemenis of the magnets below., Which of the
following arangements is not possible?

s|
[2)
“IN S
s -
=
5" N! =

13




Merrks:

/40
Section B (40 marks}
Write your dnswers In the ipdces provided,
3t The chort below shows 4 groups of animals. Give a suifa ble
heading for each of the groups. {dm}
[ Animals j
]
| o {ii) (iii} fiv}
Bat Owl Yeast Hornet
Whale Kiwi E.Cof Beette
Dolphin Vulture Amoeba Mosquito

14

4




32. The diagram below shows soma megiwormsin a container which is

holf covered by alid. The other hatf of the co

Ploiner is exposed o
bright light.

(b] What does this show? (1m)

Py

Ly
5




33.Kimberley has set WP an experiment as shown below to find out if

light is necessary for seeds to germinate.

Peh dish A

Wet cotton
wWoo!

(a}Her Science teacher jold her that her experment wil 1ot work.
What is wrong with her set-up? (Im)

[b)Whaot must she do to her set-up so that her experment will work?
im} _

6




34.Suggest fwo reasons wh
in d pond. {2m}

fil

Y waler plants are imporfant to the animals

fii}

35.5tudy the table beilow,

Grewps T AT T g c
Scarf Magazine Coin
Dbjg*:h Neck tie Postage stomp Staple

{a}inwhich group would you place ¢ post copd? {im)

(B)Give a reason for \,;rc::ur answer in EEJ..;J_.‘.F“?

17 . ' ) 1ats



36. i

{a)

What is the food source of the seed af stages A and B? (1rm)

—_—
.

{) How does the seeding atstage C and D obtain its food? {1 )

—_—

-—

13




37. The diagram below shows a green plant.

What are the plant parts labelied X and Y and thejr funciions? {3m)

[ plant Par

— SN . - Funefton

;______.____I_ﬁ_______

-
i

38. Write o 'T' for True' and a 'F for ‘False’ for each of the following

staternents, in the boxes provided. (Z2m)

(a) Salivaisa digestive juice.
{b) The stomach secretes gastnc juices.
{€) The guliet chums the food info smaller pieces.

(d] The large intestine mixes the digestive juices with the food 1o

Produceathick fluid, e

7

0 0nr

v



39. The table below shows a comparison of the ife cycles of a beetle
and a cockroach, Study fhe table below and il In fhe blank

spaces. {4m)

Cm:lc_roqéﬁ

Beetie
How many stages of growf;h If_hqs? N
Does it have q Iarvd_sfagg?- B Yes
Does it have d pupd stage? | Yes

Does it moult?

Does It resemble ity 'ﬁq;éms? - vos
How Is the young's appeifté for food? * Big |
%



40. Below is @ concepi map on Materddls. Complete it by filing in the
boxes with the most suitable words, (3m])

Materigls

|

[=F ]

Man made

I | ' fe]
o ] :
({ ]l From animals From the ground
I .

L ]

el ‘woaf silk

t) Sand

Wood | [4) I Coftan




™

41.Refer fo the diagrams below. Siate three differences between o

caterpillar and an aduit buﬂérﬂy in terms of the characteristics
stated in {i), (i) and (). {3m)

(i) Physical appearance -

{if} Maverment -

fiii] Food -




42. Fllin the blanks with the Helping Words given below. {Z2m)

Helping Words

mineral salts water _sugar stem
Xylem and phloem are two tubes found in the (i} _of
aplant. Xylem fransparts {il) and {iif}

from the soil via the rools to the ofher parts of the pPlant.  Phicem
transports {iv) that fi';e leaves have rmade o the

other parts of the plant.

43. Wrile down two functions of our skeleton. (2m)

{i)

(i) __

23




44. Complete the

45.

ow chart with the Helping Words given below. (2]

Helping Words
bones Movemeant bodly skin J
L Muscles j
) are found

are joined to \ undemeath
_ our

lo bring _ which

about COVErS Qur

L

Given a battery and an fron nail as shc:_wn below, draw what You

will do with a wire to make the iron nail info magnet, {2m)

24




Steel paper clip

[a) What happens if ihe magnet is stowly brought closer to fhe stael
Paper cip? {im)

b} What hoppens if a slronger magnet i used instead? [Z2m}

—_—

End of paper

........ —nae




1 2
in 3
16) 3
21) 2
26) 4

Q31.

)32a.

Q33a.

Q34 (i).

(1)
{335,

Q36a.

Answer Sheets
Tag Nan Pri 3 $42 /2006 JScience

2 2 3) 2 h 4 5 3
73 8 4 9 2 1) 4
12) 1 13} 3 14) 1 15} 2
17} 2 18) 4 19) 4 20y 3
22) 3 23y 1 24) 1 25} 3
2N 3 28) 1 29) 2 30) 4

( Animals : I

[w T ]
| Bat Ol Yeost Homet
Whale Kive E.Coli Eeafle
Balphin Vollore Amaoeba Mosquito
mammals birds MiCTo-organisms insects

The mealworms move under the lid
The meatworms response to sunlight,

She should place the two Peti dishes under the sun,
She should place one the Peiri dish i1 the dark place. )

Water plant provides space for the animal in the water to lay eggs,
The watcr plants provide food and shelter to the animals'in a pond.

Group B
They. are made of paper, -

Seed leaves T
It takes in sunlight and makes food with the presence of water and ajr.

Page | nf3



0Q37. Plant Part X
Plant Part ¥

Plant Part X

Plant Part Y

Stemn
Roots

It supporis the branches and ieaves of the plant and holds
them in the best position 30 as Lo get more sunlight.

It takes in water and mincral salts from the soil for the
piant.

Q38. Saliva is a digestive juice. {False)
The stomach secretes gastric juices. {True)
Te gullet churns the food into smaller Pieccs, (False)

The Iarpe intestine mixes the. digestive juices with the food to produce a

thick fluid. (Talse)
Q39 —
Beefle. Coclrooch

How many stage: of growt_h i hos? 4 3

Does It have g laned stage? Yes Ny
Cooslt have a gupa slngie? ) s No
Does It moult? _ Yes Yes
Does I!l resembic =Ills PE.‘;IFI'.I_IS'? Mo Yes
MNow I the young's appolite lor load? Big Big

Q40a. natural

plastic
rubber. -~ -
leather

mets

me ap o

From plants . -

Q41{Q)  Physical appearance : The caterpillar has no'wings, butterfly has wings

(i) Movement
(iti} Food

Butterfly fly, caterpillar crawls,
“Butterfty cat nectar, caterpiliar eat [eaves.

Proa 2 af 3



Q42. Xylem and phloen: are two tubes found in the stem of a plan, Xyilem
lranspons water and minerals safts from the 501! via the roots to the other

plants. Phlgem Iransporis sumar that ihe leaves have made to e other
parts of the plany,

Q43(y K gives our body shape.
(1) N protects the delicate organs in oup body.

044, —
"Muscles
are foundg
are roined o undemeeih
our
Qd5.

Q46a. The paper elip wonld he attracted to the magnet. _
B When'the stronger magnet is use, it still can move back a little and the
paper elip still would be attracted. - S :
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